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Multiple Choice

Non calculator
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26. The function f is continuous on the closed interval [0.2] and has values that are given in the table
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above. The equation f(x)= 5 must have at least two solutions in the interval [0.2] if k=
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Calculator
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84. Population y grows according to the equation % =ky. where kis a constant and  is measured in
it

years. If the population doubles every 10 years. then the value of kis
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Free Response
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Let f be the function given by f(x) = TX forall x > 0. The derivative of £ is given by

rx==px

(a) Write an equation for the line tangent to the graph of £ at x =

(b) Find the x-coordinate of the critical point of /. Determine whether this poi
relative maximum, or neither for the function /. Justify your answer.

(c) The graph of the function f has exactly one point of inflection. Find the x-coordinate of this point.
(d) Find Tim f(x).
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